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Consider the following function:

h(t)=4-(t - 1)
representing the flight of a ball.
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b. Compute the ball’s average velocity over this period, from t=1 to t=2. How
does this average velocity compare to the ball’s instantaneous velocity at t=1
(you do not need to compute the instantaneous velocity, although you might
be able to estimate it....)?
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c. Carefully draw the secant line connecting the ball’s positions at times t=1
and t=2 onto the graph. Write the equation of the secant line in both of the
following two forms:

i. point-slope form
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ii. slope-intercept form
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